3 (Sem—4) STS

2019

STATISTICS
( General )

( Sample Survey and Design of Experiments )

Full Marks : 40

Time : 2 hours

The figures in the margin indicate full marks
Sfor the questions

Answer either in English or in Assamese

1. Answer the following questions as
directed : 1x4=4

TR PNIHR e S Teg f
{a) Name the sﬁnplest design making

use of all the three basic principles
of design of experiments.
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(2)

(b) Another name of population is .
( Fill in the blank )

TRIEH @I AN TA |
(SRR FIFAN)

() What is an experimental error?

e @5 e 2

(d) Optimum allocation is also known
as allocation.
( Fill in the blank )

wgerew faens _ fwed 3w
@ |

( 1M S = ¥ )

Answer the following in brief : 2x3=6

were fAIRA sYLe Te ol -

() What is meant by sampling frame?
ofwa e W R 7

(b) Why is local control also known as
‘error control?

v Paae R @b A e cm
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( Continued )

3.
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(c) Write down the difference between
simple random sampling with and
without replacement.

AF YR A afomm W
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Answer any two questions of the
following : 5x2=10

were AR R it gt e g fum

(a) What is pilot survey? In what
situation pilot survey has to be
conducted? Give one example. 2+2+1=5

fie o AW R copa REs e
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(p) What is completely randomized
experimental design? Write down the
advantages of completely randomized
experimental design. 3+2=5

ool o A SfScery e 6 e 2
oo Ao R Wy RATIR
o

( Turn Over )



(c)

(d)

(4)

Find V(X) by simple random
sampling without replacement.

AR AR AT ofvEm raie]
AR V(X)) 3 T [efy 3w

Explain briefly the term <“actorial
experiment’ with an example. Define
the terms ‘main effects’ and
‘interaction effects’ in relation to

22 -experiment. 3+2=5

‘REMAT AN THEw @S TwE
TS ST [ A1 22 0P 7o0FS
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4. Answer any two questions of the

following :

Tore faicad R @ 951 2w Teq fomn

(@)
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() What is systematic sampling?
Mention its advantages and

disadvantages. 2+3=5

IR Afoe omfs 2 ‘we JRy
SF SPRAPTE Tead 4 |

{ Continued )

10x2=20

(b)
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(ii) The following random sample
has been drawn without
replacement from a population
of size 250 :

37,16, 60, 50,41, 27, 29, 35,
46, 39

Estimate the population mean
and its standard error.

WS o Afoe Afowiihr 250 WFRT
MR @BR Rl SeFEEE e
e =1t

37, 16, 60, 50, 41, 27, 29, 35,
46, 39
B MY WEF TR T Fio TR
F41 |

What is linear model? What are the
different types of linear model?
Discuss the analysis of variance of
one-way classified data in detail.

2+2+6=10
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(c)

(d)
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(i)

(ii)

@

(6)

What is stratified random
sampling? Explain its merits and

demerits. 2+3=5
wATe TMee ARGH WS &F2 R
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Show that in SRSWOR, the
sample mean is an unbiased
estimate of population mean. 5

({Sd @ SRSWOR (Fas ofom(
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An experiment was conducted to
test 4 treatments A, B, Cand D
in 3 randomized blocks. Explain
the following : 5

4% Tese A, B, C W¥ D, 30
Mo 49 SfSCETY NCHET (R | TS
fracares arm +911 ¢

(1) The null hypothesis
e avm

(2) AOV table
2R Rese e

{ Continued )

(7)

(ii) Fill in the blanks in the following

analysis of variance table of the
LSD: S
o cafon I9f SfStak] AR Rewwe
S oo 90

Sourceof | df. | SS |MSS| F
variation

Row — 72 — 2
Column — _ 36
Treatment | — | 180 — | —
Error 6 — 12
Total — —
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